
ELLIPSE



©2020 Minka Lighting Inc.Manual design and all elements of manual design are protected by United States Federal and/or State 

Law including Patents, Trademark, and/or Copyright Laws.  





F771L



INSTALLING THE LIGHT KIT

ENJOY YOUR SMART CEILING FANENJOY YOUR SMART CEILING FAN

3



8
9
0



AL-168-1102S RC1000 FAN



1

2

3 4
5

6

7 8 9

A

B

C

D

C     Balance kit
D    Wire nut(3pcs)
E.   extra 6" and 18"x3 sensor wire

PC

10

Blade attachment hardware:
B1. 1/4*13mm+S screw(11pcs)

      1/4(Φ6.6*13*0.8mm) flat washer (11pcs)
B2. #8-18*12mm screw (6pcs)Remote control with holder 

and 2mounting screws
(1.5V*2AAA battery included)

11. Receiver(9wire nuts included)

#8-32x38mm Machine screws(2PCs.)

11





SCREW

BLADE

Fig.5 Fig.6

Assemble the blade onto the motor. Align the two holes of the blades with 

the motor and tighten them with the screw pack B1.(Fig.5)Then, Convert 

the fan body, have the blade overlap each other and tighten them with the 

provides screws B2 in parts bag.(Fig.6)



,and slip the coupler cover on to the fan body.

7

8

9

2

hanger

0



Fig.7 Fig.8 Fig.9 Fig.10 Fig.11 Fig.12



Fig.13

3

024

(Fig.14)



Fig.14

            Motor to Receiver electrical connections: connect the WHITE 
WIRE from the fan to the WHITE wire from receiver. Connect the RED wire 
from the fan to the RED wire from the Receiver. Connector the BLUE wire
from the fan to the BLUE wire from the recelver. connect the PURPLE 
wire from the fan to the PURPLE wire from the receiver. Connect the 
GREY wire from the fan to the GREY wire from the receiver.Connect 
the sensor wire from fan and receiver with the pin-connector. 

Step 4  Receiver to House Supply Wires Electrical connections: Connect 
the WHITE wire from the outlet box to the WHITE wire from the receiver.
Connect the BLACK wire from the outlet box to the BLACK wire from the 
receiver. Secure all wire connections with the plastic wire nuts provided. 

5
Receiver

Screw

Downrod

Black

White

Red

White

Blue

Purple
Grey

Green

Sensor Wire

Fig.15



Fig.16 Fig.17 Fig.18

6

7

8

Canopy

Screw Screw

Canopy

Canopy Cover

cover



INSTALLING THE LIGHT KIT

Fig.19 Fig.20 Fig.21 Fig.22

Screw back the 3 previously removed screws and tighten the light kit 

/

20

(Do not discard)(Fig.19)

Fig.21

22

Blue to blue



9
2pcs AAA battery



(COUNTERCLOCKWISE DIRECTION) (CLOCKWISE DIRECTION)

Fig.23 Fig.24

23

24



25

Fig.25







60



60

0.14 7.13
6.3 8.6

3.17

51120

0.53 34.13 93120



3165 7.13 444

5854 34.13 1724,5936

22

210

DOE





MKA20021901


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26

